\[B Hang de tv met de VESA-plaat in de muurplaat

138 Accrochez le téléviseur avec la plaque VESA dans la plaque murale

3\l Hang the TV with the VESA plate into the wall plate

1]l Hangen Sie den Fernseher mit der VESA-Platte in die Wandplatte

(1M Appendi la TV con la piastra VESA alla piastra a muro

1 Cuelgue el televisor con la placa VESA en la placa de pared

Tighten the screw nut

UTION

Before attaching the
TV plate to the wall
plate, tighten the top
screw nut in case
the tv would slide off
during installation.

Cable management clip
Cable routing access points

B3_TVsupport_ MANUAL_2021.indd 1

5x5
allen key

Tension screw

-5°~10°

®

@WAARSCHUWING

D\l product bevat kleine voorwerpen die bij inslikken vers! \kkmgsgevaar kunnen opleveren. Houd deze items uit de buurt van jonge kinderen
Zorg ervoor dat deze instructies zijn gelezen en volledig zijn begrepen voordat u met de installatie begint. Als u twifelt over een onderdeel van deze installatie,
neem dan contact op met een professionele installateur voor hulp
De muur of het montageopperviak moet het gecombineerde gewicht van de steun en het scherm kunnen dragen, anders moet de structuur worden versterkt
Er moeten veiligheidsuitrusting en geschikt gereedschap worden gebruikt. Voor deze installatie zijn minimaal twee persanen nodig. Het niet gebruiken van
veiligheidsuitrusting kan materiéle schade, ernstig letsel of de dood tot gevolg hebben.
Controleer de verbindingsdelen om de twee maanden en zorg ervoor dat de schroeven niet zijn losgekomen
D\[ product is ontworpen om te worden geinstalleerd op wanden met houten stijlen of massieve betonnen wanden. Zorg er voor de installatie voor dat de muur de
gecombineerde belasting van de apparatuur en hardware kan dragen. Overschrijd nooit het maximale laadvermogen van 25 KG, anders kan het product defect raken
of persoonlijk letsel veroorzaken.
Let op: dit product is alleen bedoeld voor gebruik binnenshuis. Gebruik van dit product buitenshuis kan leiden tot productstoringen of persoonlijk letsel

@ Avermissement

Ce produit contient des petits objets qui pourraient étre un risque d'étouffement en cas d'ingestion. Eloignez-les de vos enfants.
Assurez-vous que ces instructions sont Lus et compris avant de tenter l'installation. Sivous n'étes pas s(r d'une étape, contactez un installateur professionnel
Le mur ou la surface de montage doit étre capable de supporter le poids combiné du support et 'écran, sinon la structure doit étre renforcée.
Le mécanisme de sécurité et les outils appropriés doivent étre utilisés. Un minimum de deux personnes est nécessaire pour cette installation. Ne pas utilisez
pas 'gquipement de sécurité peut entrainer des dommages matériels, des blessures graves ou la mort
Verifiez les pieces communes tous les deux mois, en s‘assurant que les vis soient bien serrées.
Ce produit a été congu pour étre installé sur les murs en bais ou en béton. Avant toute installation, assurez-vous que le mur supportera la capacité de charge. Ne
deépassez jamais la capacité maximale de 25 KG, sinon vous avez le risque d'endommager des produits ou d'entrainer des blessures
Notice: Ce produit est congu pour une utilisation en intérieur. Lutilisation de ce produit & lextérieur pourrait conduire 4 un endommagement du produit ou des blessures

@ caution

This product contains small itemns that could be a choking hazard if swallowed. Keep these items away from young children
Make Sure these instructions are read and completely understood before attempting installation. If you are unsure of any part of this installation, please
contact a professional installer for assistance
The wall or mounting surface must be capable of supparting the combined weight of the mount and the display, otherwise the structure must be reinforced
Safety gear and proper tools must be used. A minimum of two people are required for this installation. Failure to use safety gear can result in property damage,
serious injury or death
Please check joint parts every two months, making sure the screws are loosened or not
This product was designed to be installed on wood stud walls and solid cancrete walls. Before installing, make sure the wall will support the combined load of the
equipment and hardware. Never exceed the maximum load capacity 25 KG, or else it may result in product failure or persanal injury.
Note: this product is intended for indoor use only. Use of this product outdoors could lead ta product failure or personal injury.

(D warnune

Das Produkt enthalt Kleinteile. Wenn sie versehentlich verschluckt werden, besteht die Gefahr des Erstickens. Stellen Sie sicher, dass diese Kleinteile auBerhalb der
Rewchwel te von Kindern sind
Lesen Sie sich diese Installationsanleitung vor Installation durch, bis Sie alles sicher verstanden haben. Wenn Sie bei irgendeinem Teil dieser Installation
unsicher sind, kontaktieren Sie einen professionellen Installateur zur Unterstitzung
Die Wand- oder Montageflache muss geeignet sein und das Gesamtgewicht der Halterung und des Displays tragen kdnnen. Ansonsten muss die Struktur
entsprechend verstarkt werden
Schutzkleidung und geeignetes Werkzeug miissen benutzt werden. Die Installation erfordert mindestens zwei Personen. Ohne geeignete Schutzkleidung kann
es zu Sachschaden, schweren Verletzungen oder Tod kammen
Bitte Uberprifen Sie alle Verbindungskomponenten alle zwei Monate, um zu sicherzustellen, ob die Schrauben geldst sind oder nicht.
Das Produkt muss an einer Wand, in Holz oder massiven Beton installiert werden. Vor der Installation miissen Sie die Tragkraft der Wand sicher stellen. Uberschreiten
Sie nie die maximale Belastbarkeit von 25 KG, sonst kann dies zu Produkt-Beschadigungen oder Verletzungen fihren
Hinweis: Das Produkt ist nur zur Verwendung in Innenraumen geeignet und vorgesehen. Die Benutzung dieses Produkts im Freien konnte zu Produkt-Beschadigungen
oder Verletzungen fuhren

GAWERTENZE

Dueslo prodotto contiene | particolari piccoli, se avesse ingerito accidentalmente, ci sara il pericolo di soffocamento, si prega di metterli a lontano dai bambini
Prima dell'Installazione, deve determinare di aver letto le istruzioni d'installazione e comprendere pienamente come installare, se non potra’ capire la
procedura d'installazione, prego di rivolgersi ad un installatore professionista
Le mura dell'installazione devono essere in grado di sapportare il peso della staffa e il visualizzatore, altrimenti prego di rafforzare la struttura delle mura in
tempo, rafforzando la capacita di caricole delle pareti delle mura
Mentre linstallazione, dovete assicuratevi di mettere i servizi di sicurezza e l'uso di strumenti complementari, con almeno due persone per completare
linstallazione, l'assenza di indossare gli abiti di sicurezza, potrebbe causare i danni umani, e lesioni gravi o morti
Prego di controllare la connessione in ogni due mesi, prima delle installazioni, prego di confermare se esiste lallentamento delle viti
Ta li prodotti devono essere installati nelle mura della parete di legno o di cemento, prima dell'installazione, deve assicurarsi che la capacitadi carico delle mura, non
deve superare il massimo 25 KG portanti, altrimenti causera | danni del prodotto o le lesioni personali
Nota: questi prodotti si usa all'interno di casa. Se utilizzate all'aperto, puo causare | danni del prodotto o le lesioni personali

@ATENCM’JN

Es te producto contiene piezas pequenas que podrian ser un pell \gro de asfixia si el producto se ingiere . Mantener fuera del alcance de los ninos pequenos.
Asegurese de que estas instrucciones son leidas y completamente ententidas antes de comenzar a instalacion. Si no esta seguro de cualquier parte de esta
instalacion, por favor pongase en contacto con un instalador profesional para pedir ayuda.

La pared o superficie de montaje debe ser capaz de soportar el peso del soporte y la pantalla, de lo contrario la estructura debe ser reforzada.

El equipo de seguridad y las herramientas se deben utilizar. Se necesita un grupa minimo de dos personas para esta instalacion. Si no se utiliza equipo de
seguridad puede resultar dafios a la propiedad, lesiones graves o muerte

Por favor revise las piezas conjuntas cada dos meses, asegurandose de que Los tornillos se aflojan o no.

Este producto fue disenado para ser instalado en pared es con postes de madera y muros de hormigon visto. Antes de instalar, asegUrese de que la pared, la carga

combinada del equipo y la ferreteria. Nunca exceda la carga méaxima 25 KG de capacidad, o de lo contrario puede resultar en la fallas danos personales

Nota: este producto est4 disenado para uso interior. EL uso de este producto en exteriores podria causar fallas daros personales

@

©2021 www fetimgroup.com

BASICLINE

Essentials®

O

MONTAGE HANDLEIDING
GUIDE D'INSTALLATION
INSTALLATION GUIDE

INSTALLATIONSANLEITUNG
GUIDA D'INSTALLAZIONE
GUIA DE INSTALACION

h

\J —
75X75 26-42" -5° +/-3°  52MM
200X200 -10° +/-90° 342MM

Needed:

Including:

rPrr?og

M4X20MM  M5X20MM  M6X20MM  M8X20MM
(4PCS) A2(4PCS) A3(4PCS) A4(4PCS) A5(4PCS) A6 (4PCS)

f / Plastic cover
\ 2

;@ (4PCS) B2(4PCS)
‘ TV plafe -
5x5 allen key Wall plate
Magnetic removable
B3(4PCS) bubble level
19-01-2021

09:39



\|M Montage op massieve betonnen muur

STEP1 - OPTION A

I8 Montage sur mur en béton massif

[3'W Mounting on solid concrete wall

1]l Montage auf massiver Betonwand

60mm

(1l Montaggio su un solido muro di cemento

1 Montaje en muro de hormigon macizo

@10mm

\|M Montage op houten staanders

Concrete Wall

STEP1 - OPTION B

318 Montage sur montants en bais

3'W Mounting on wooden uprights

] Montage auf Holzpfosten 60mm
|l Montaggio su montanti in legno
C1:l Montaje en montantes de madera Bomm

—

1

Stud finder

B3_TVsupport_ MANUAL_2021.indd 2

Wood stud

Montage kunststof muurplaatafdekking 2x

Montage du couvercle de plaque murale en plastique 2x

Mounting plastic wall plate cover 2x

Montage der Kunststoff-Wandplattenabdeckung 2x

Montaggio della copertura della piastra a muro in plastica 2x

Montaje de cubierta de placa de pared de plastico 2x

Plastic cover

STEP 3 - OPTION A FLAT BACK

De VESA-plaat op de monitor bevestigen

Voor tv's met een platte achterkant

Fixation de la plaque VESA au moniteur

Pour les téléviseurs a dos plat

Attaching the VESA plate to the monitor

For TVs with a flat back

Befestigen Sie die VESA-Platte am Monitor

Fir Fernseher mit flachem Riicken

Collegamenta della piastra VESA al manitor

Per TV con retro piatto

Colocacion de la placa VESA en el monitor

Para televisores con respaldo plano

TV plate

A1-A4

Square washer(A6)

Large hole for
O// M8 screws
Medium hole for
O——M5 and M6 screws
O—__small hole for
M4 screws

If the VESA hole of your TV is shallow,
please kindly prepare some shorter
screws by yourself.

STEP 3 - OPTION B CURVED BACK

De VESA-plaat ap de monitor bevestigen

Voor tv's met een gebogen rug of obstructie

Fixation de la plaque VESA au moniteur

Pour les TV avec un dos incurvé ou une obstruction

Attaching the VESA plate to the monitor

For TVs with a curved back or obstruction

Befestigen Sie die VESA-Platte am Monitor

Fur Fernseher mit gebogenem Riicken oder Hindernis

Collegamento della piastra VESA al manitor

Per televisori con retro curvo o ostruzioni

Colocacion de la placa VESA en el monitor

Para televisores con respaldo curvo u obstruccion

TV plate

Square washer(AB6)

A1-A4

Large hole for

O// M8 screws
O—
O—|

Medium hole for
[ M5 and M6 screws

f—_ Small hole for
M4 screws

If the VESA hole of your TV is shallow,
please kindly prepare some shorter
screws by yourself.

19-01-2021

09:39



